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Guess Paper – 2010
Class – X
Subject – Science (Biology)

Life process  
Q.What is meant by peristaltic movement.1

Q.Which equipment is used to facilitate breathing during serious breathing problems?1

Q, Describe the feeding and nutrition in amoeba.3
Q. What is translocation?1

QWrite the function of xylem,and phloem.2
Q. What is the function of epiglottis in man. Draw a labeled diag. showing the human

respiratory system. 3 

,Q .Describe the digestive system and process of digestion in man.3
Q.Differentiate between Photosynthesis and Respiration ,Anaerobic and aerobic Resperation.2
Q What is the difference between breathing and respiration.?2
Q, why do The walls of trachea not collapse when there is less air in it.1? 

    Q What happens to the CO2which collect in human lungs. 1?
Q. List the sequence of events that occur during the formation of blood clot after an injury.2
Q.State the role of excretion in living beings Describe how excretion takes place in amoeba?3 
Q.Differentiate between Lymph and blood.

Q.Write the balanced chemical equation  for the process of photosynthesis.
Q.Which part of visible spectrum is absorbed by chlorophyll pigments. 1

Ans-) Blue and Red light
Q.Why are glomeruli considered as dialysis bags?
Ans-The main function performed by the glomeruli is selective filtration. They filter small molecules containing glucose, salts, urea, and liquid serum. Etc. The large molecules such as proteins remain in blood. Thus, glomeruli of the kidneys function as dialysis bags.
Q.Write the functions of the following in the digestive process: (i)
Bile
(ii) 
Bicarbonate secreted by the duodenal wall. (iii)
Pancreatic amylase.
Ans-
1.   Bile: It is secreted by the gall bladder and it emulsifies the fats into the smaller droplets for their easy digestion.
2.   It provides alkaline medium in the duodenum which is needed for the action of pancreatic enzymes of different food components for their digestion.
3.   Pancreatic amylase enzyme digests starch and changes it into maltose.

Q. Why is the process of diffusion insufficient to meet the oxygen requirement of human beings?
Ans.The process of diffusion for carrying O2  to all parts of the body is not sufficient for larger multicellular organisms like human beings. Hence, respiratory pigment haemoglobin takes up oxygen from the air and carry it to all the parts of our body through blood.
Q.What will happen if carbon monoxide combines with haemoglobin?

Ans-) If the haemoglobin binds with carbon monoxide strongly, the oxygen will not be carried with blood leading to death of the organism

Q.Food moves down the gut by peristalsis. Which region of brain controls peristalsis?

Ans-) Medulla of hind brain.
Q.Leaves of a healthy potted  plant were coated with Vaseline to block the stomata. Will this

plant remain healthy for long? State three reasons for your answer.2 

 Q .Name the artery which tarry impure blood and the vein. which carry pure blood. I

.Q. Describe the structure and. function of human heart with labeled diag.5
iName the blood vessel that brings deoxygenated blood to the human heart. ii.Which chamber of human heart receives oxygenated blood? 
iii.Explain how oxygenated blood from this chamber is sent to all parts of the body.
Q. Describe the structure and function of renal excretory system of man with labeled diag.5


Q.Name the largest artery.1
Q'.What are the different ways in which glucose is oxidized to provide energy in various

organisms.3
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Q.Name the functional unit of human kidney.1
Q. Describe the experiment to show that chlorophyll is essential for photosynthesis.3 

 Q. What governs the opening and closing of leaf stomata? '1 
Q.What is difference between autotrophic nutrition and Hetrotrophic nutrition.
 Q.Describe one experiment to show that carbon dioxide is essential for photosynthesis 3
Q.What is the role of released HCl in the stomach. What happens if is released in excess.?1
Control and Coordination
Q. Describe the structure and function  of neuron with labeled diag.5
Q.   On touching a hot plate, you suddenly withdraw your hand. Which category of neurons became active first and which one next?
Ans. On touching a hot plate, first the sensory neurons are activated, which take the information to the brain or the spinal cord. Next, the motor neurons become active
and bring the impulses from the brain to the muscles. In receiving these impulses, the muscles contract, and the hand is immediately removed from the hot plate.
Q.A part of the hind brain makes possible activities like walking, skating, riding a bicycle and picking up a pencil.name this part of the hind brain.
Ans. Cerebellum
Q. Give a reason to explain why
(a) adrenaline helps in dealing emergency situations?
(b) secretions of growth hormone should be specific in the human body?

Ans. a. Adrenaline increases the heart beat and breathing rate which results in the supply of more oxygen to muscles. It reduces the blood to the digestive system and skin, as a result the blood is further diverted to skeletal muscles. All these responses together prepare the body to deal with the emergency situations.
b. If growth hormones is secreted in excess during childhood then it leads to
gigantism while the less secretion of this hormone during childhood causes dwarfism.
Q. Who transmits nerve impulse across the synapse?

Ans. Neurotransmitters.
Q.Whicxh part of the brain maintains posture and equilibrium of the body.1
Q.Explain the role of adrenaline hormone in human blood.1
Q.Define nerve impulse  Which structure in neuron helps to conduct a nerve impulse. (i)towards the cell body. 
(ii)away from the cell body.3
Q Describe the structure and function of human brain with labeled diag.5
Q.Define reflex action and reflex arc.3
.

Q.Who introduce the term hormone?1
Q .Describe briefly the function of different phytoharmone.3
Q.Name the plant which shows seismonastic movements 1.

Q Which signals will get disrupted in case of spinal chord injury.1
 Q.Name the structural and functional unit of human nervous system. 1
Q.Define tropism what are different type of tropism.3
Q;Define the term hormone1.

, Q,)What are the function of receptors in our body. ?Think of situations where receptors do not

work properly.What problems are likely to arise?2
,Q: Which, hormone regulate blood sugar level in human being.1
Q.Which animal or plant hormone is associated with the following:3

i) Increased sugar level in blood.

ii) Changes at puberty in boys

iii) inhibits growth of plants

iv)rapid development of fruits

v)dwarfism

vi)goitre  
Ans: Insuline,Testosterone,Abscisic acid,Cytokinins,Growth hormone(sometotrophic),Thyroxine.
Q. Which harmonies responsible for dwarfism and ,gigantism. 1
Q.Why is the use of iodised salt is advisable? 1
  HOW DO ORGANISMS REPRODUCE

  Q.How does binary fission differ from multiple fission. 2
  Q.What is menstruation.?1
Q.Why is it said that “sexual reproduction promotes diversity of characters in the offsprings”?

Ans . It is because sexual reproduction results from the fusion of two gametes coming from two different and sexually distinct individuals. This leads to variation, is necessary for evolution.
Q.1) Why is variation beneficial to the species but not necessar y for the individual?
Ans- Variation is beneficial to the species as it enables a species for its survival. A favourable variation makes an organism to live better in a changed environment and an unfavourable variation will not. So it is not necessarily true that a variation is beneficial to the individual always.

Q. Why are variation possible in progeny of sexually reproductive individuals?
Ans- Variations are possible in progeny of sexually reproductive individuals because copy of DNA in newly formed cell is not identical to copy DNA of original cell.
Q. Name the unicellular organism which caused the disease known as kala-azar.                        Ans- Leishmania
Q. Where does fertilization takes place in human female?
Ans.Oviduct (fallopian tube)
Q, What do you mean by vegetative propagation of plants?1 
Q, What is tissue culture in plants?2
Q,Draw a diagram of a flower to show male and female reproductive parts. Label on it :5
I)The ovary, ii) the anther iii)The filament iv)The stigma.
.

QDifferentiate between 'Self Pollination and Cross-pollination.2
Q What is syngamy ?What happens after syngamy? Explain with the help of a diagram.2
Q. What is menopause?Draw a labeled.diag. to show  the reproouctive system in 
women. When does ovoluation  occur during the menstrution cycle in a normal healthy

woman ? ​.5
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Q.Explain i) Menarche ii)Triple.fusion iii)Double fertilization. 2each

QWhat would be the effect I) if Placenta is detached iI)One oviduct is removed. 2 each 

Q.Describe the male reproductive system with label  diag.  5

Q.Write the full forms of the following.

AIDS,STD,VD,HIV, WHO,NGO,IUCD,OC,1
Q.What methods will you use for growing jasmine and arose plants. 
Q.Describe vegetative propagation in plants.3
Q.How does the embryo get nourishment inside the mother’s body.3

Q.Write one disadvantage of taking oral contraceptive pills.1

Q.Describe some contraceptive methods.2 
Heredity and evolution

Q. What is Genetics?1
Q. Name the scientist who established the laws of inheritance.l 
Q.Define inheritance.l

Q.What is retro virus?1
Q. Describe how sex is determined in human beings.Name the type-of chromosome present in I) human male and ii) human female. What will be the sex of the offspring if a sperm carrying "X' chromosome fertilizes the egg? Write the name of the insect in which similar type of sex determination takes place.3
Q What is organic evolution?2
Q. 27. Study the given data and answer the questions following the data:
	Parental 
plants 
 cross fertilised
  and 
seeds collected
	F1 
First 
Generation offsprings
	F2   Offsprings   of   self pollination of F1

	Male 
parents 
always bare red flowers.
Female   parent   always had white flowers.
	330 
seeds 
sown 
and observed.

All 
330 
gave 
red flowers.
	Out of 44 seeds 33 seeds gave
plants 
with   red flowers   and   11   seeds gave plants with white flowers.


i. 
What is the term for this type of cross?
ii. 
What does the data of the column marked F1  indicate?
iii. Express the gene type of the (a) parents (b) F1 progeny and (c) F2progeny
Ans.i. 
Monohybrid cross
ii. 
Red colour of flower dominant over white flower iii.
a.
Parents – (RR) and (rr)
b. 
F1 progeny – Rr
c. 
F2 progeny – RR, Rr and rr
Q.What are fossils ?What do they tell us about the process of evolution?2
Q In  evolutionary terms,  which  among-bacteria,  spider,  fish and  chimpanzee
have a “better” body design? Why or why not?
Ans. Chimpanzee have the better body design as compared to others given.  They are better adapted for locomotion, communication and thinking.
Q.How do we know how old a fossil is?

Ans.i. 
Relative method when we dig into the earth, the fossils we find closer to the surface are more recent than the fossils we find in deeper layers.
ii. 
By detecting the ratios of different isotopes of the same element in the fossil material.
Q.Is it true that when a new species is emerged, the old species is eliminated and why?
Ans. No,it  is  not  true  that  when  a  new  species  is  emerged,  the  old  species  is eliminated.  Because when there is a change in any species, the change is only in a part or a few members of the species population.  If the newly generated species after genetic change is better in any way, it will get more opportunity to survive and if the  genetic change is against the environment, it will die. Thus, unchanged members of other species may also remain and tend to live in changed environment.

Q.The gene type of green stemmed tomato plants is denoted as GG and that of
purple stemmed tomato plants as GG when these two are crossed. i.
What colour of stem would you expect in F1 progeny?
ii. 
Give the percentage of purple stemmed plants if F1  are self pollinated. iii.
In  what ratio would  you find the gene types CG and Gg in the F2
progeny?
Ans.i. 
Colour of F1 progeny – Green
ii. 
Percentage of purple stemmed plants in F2 generation ¼ or 25%. iii.
Ratio of genotypes GG and Gg 1:2
Q.Why are traits acquired during life-time of an individual not inherited?
Ans.Traits acquired during life-time of an individual not inherited because change in non-reproductive tissue or somatic cells cannot be passed on to the DNA of germ cells.  Thus, the acquired trait will die with the death of the individual.  It is therefore non-heritable and cannot be passed on to its progeny.
Q.What are homologous organs.Can the wings of a butterfly and the wings of a bat be considerd homologous organs? Why or Why not.?2
QWhat are vestigial organs ?Name any two vestigial organs in human beings and name the organ which is vestigial for us but not in birds.2
Q .How do Mendel's experiments show that traits may be dominant or- recessive?2
Q. How do Mendel's experiments show that traits are inherited independently?3
Q.Define I)Gestation ii)Rh Factor iii)Emphysema,iv)Compensation Point

v)Parthenogenesis. vi)Nastic movement.1each.
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Environment 
[image: image1.png]Q18.
Give the correct sequence of various trophic levels in a food chain.
                                                                       Producer

Primary

                                                                            Consumer
                                                                   secondaryConsumer
                                                                       tertiaryConsumer
Q.Why food chains consists of three or four steps only?
Ans-Since so little energy is available for the next level of consumers and for this reason food generally consists of three or four steps.  The loss of energy at the each step is so great that very little usable energy remains after four tropic levels.
Q. 
Write the harmful effect of ozone depletion
Ans-1Cause the skin cancer2. 
Damage to eyes
3. 
Immune system
Q. What limits the number of trophic levels in a food chain. 
Ans-2. There is a loss of energy as we go from one trophic level to the next, this limits the number of trophic levels in a food chain.
Q. 
What will happen if decomposers are not there in the environment?
Ans-3. If  decomposers  are  not  there  in  the  environment,  the  breakdown  of  the complex  organic substances into simple substances will not take place and natural replenishment of the soil will not take place.  So, for the replenishment of soil and biogeochemical cycle of elements or substances.
presence of decomposers is essential 
Q. 
Which  of the  following will  have  the  maximum  concentration of harmful chemicals in its body?
Peacock, Frog, Grass, Snake, Grasshopper

Ans-.Grass 
Grasshopper 
Frog 
Peacock
Peacock will have maximum conc.
Q17.
Consider the following food chains:
1. 
Plants 
Mice 
Snake 
Hawks
2. 
Plants 
Mice 
Hawks
If energy available at the producer level in both the food chains is 100 J in which  case will hawks get more energy as food and by how much?
Q. 
The number of malarial patients in a village increase tremendously, when a large number of frogs were exported from the village.  What could be the cause for it? Explain the help of food chain? Justify your answer.
Ans-. Phytoplankton 
Zooplankton 
Mosquito larva 
Frog
In the absence of frog, more mosquito larva survive, giving rise to large number of mosquitoes which cause increase incidence of malaria.
Q .Define ecosystem.

Q.Which of the following are biodegradable? 
(a),Aluminium wire, Tea-leaves, Synthetic fibre, Wool. 

(b), Aluminium foill,Paper, Hay;Ball pen refill, Polythene bag, Animal bones. 

@;-Animal bones,Iron nails,Plastic mugs, Leather belts.

Q. As a pollutant of the atmosphere, carbon mono oxide is considered to be more dangerous than carbon di oxide. Why?

Q.Define food chain and food web.

Q. Explain second law of thermodynamics.(l0% law)

Q.What is Ozone hole where was it first noticed?Name the equipment and also the unite

of measurement of quantity of ozone present at a particular region of the atmosphere.

Q.Expand UNEP,CFCs,UV"DU

Q. What are trophic levels?Give an example of a food chain and state the different trophic levels in it.
Q. H2  has been used as a rocket fuel. Would you consider it as a cleaner fuel than
CNG? Why or why not?
Ans.    H2     when burnt in presence of O2   produces H2O as the only product with release of lot of heat energy. Water does not cause any damage to environment while CNG during burning produces CO2 and water. CO2  is not a pollutant yet it leads to rise in the temperature (global warming), this rise is called green house effect and this will affect polar ice, and life on the earth is at risk. Thus, H2  is a cleaner fuel than CNG.
Q.  Why is  there  so  much emphasis on  changing over  from  petrol/diesel driven automobiles to CNG-driven vehicles?
Ans.  CNG on burning produces only carbon dioxide and water
-It does not produc smoke.
-It does not leave unburnt hydrocarbons, lead particulates etc.

 Q. Can any source of energy be pollution-free? Why or why not? 

Ans.  No source of energy can be called pollution-free, because the use of any source of energy disturbs the environment in one way or the other. The actual source of energy may be pollution-free,but the assembly of  the device might have caused some damage to the environment. So, in absolute sense, no source of energy can be called pollution-free.

Q. Though a hot iron emits radiation, yet it is not visible in the dark, why?
Ans.  Hot iron emits infra-red rays and these are not visible to our eyes.
. Q Define autotrophs, hetrotrophs.

Q.Distinguish between biodegradable and nonbiodegradable wastes. Give example of each.Show how a biodegradable product can be used to produce energy.

Q,In an industrial area using fossil fuels an old palace made of marble is getting damaged


and is also losing its white luster inspite of proper care. 'What could be the cause

possible for I)getting damage and ii)Losing its luster..

Q, What is Eutrophication? How does it influence aquatic life.

Q, What is potable water? State any four of its necessary characteristics.

Q. What is green house effect.?

Management of Natural Resources.

CONCEPT TUTOR POINT ,Cell :9983118799 

Q.What are “biodiversity hot spots”? What is the measure of the biodiversity?2
Ans.Forests are “biodiversity hot spots”. One measure of the biodiversity of an area is the number of species found here.
 Q.Why   are   environmentalists   insisting   upon   sustainable   natural   resource management? Give any four reasons.
Ans.

	.
	a.
	Non-renewable resources are limited, we should use them judiciously

	
	b.
c. d.
	We should encourage the use of renewable resources
We should preserve the environment for future generation
The benefits of the controlled exploitation should go to local people


Q.Which programme was started to replenish forests?
Ans.Silviculture
Q.What does the high level of total coliform count in river Ganga indicates?
Ans.It indicates that water is contaminated b y disease causing micro-organisms.

Q.How did Chipko Andolan ultimately benefit the local population? Give any three benefits?
Ans.
	a.
	The locals benefitted from forest produces

	b.
c.
	The wild life and nature were conserved
The quality of air and soil was preserved


Q.Why scarcity of water is there in our country inspite of nature’s monsoon bounty?

Ans.It has taken place due to the following reasons:
(a) Failure to sustain water availability underground which has resulted largely from the loss of vegetation cover.
(b) Diversion for high water demanding crops.
. (c) Pollution from industrial effluents and urban wastes.

Q.State benefits of water harvesting.

Ans.

	a. b. c. d.
	Provides self-sufficiency to water supply Conserves valuable ground water Reduces cost for pumping ground water
Reduces local flooding and drainage problems


Q. What are renewable,non- renewable resources give examples for each.2
 Q. What do you mean by Chipko Movement?2
Q .Expand the following

IUCN,CITES,CNG, IBWL, MAB 1
Q.What is Ganga action plan?2
Q .Who are stakeholders.1
Q.What are three R's to save the environment.2
Q. What are the traditional system of water harvesting in your region  describe them briefly.3
Q. What do you mean by water harvesting.2
Q.Suggest some approaches towards the conservation of forests.2 
Q. Define sustainable development.3
Paper Submitted by:

Name : yashwant sharma

Email : sharma_yashwant@ymail.com

Phone No.  +919983118799

-------------------------------------------------------------------------------------------------------
www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com

